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Answer all questions.

1 Clothing can be made using different methods of production.

 (a) (i) Draw a line from each method of production to its description.

Method of 
production Description

Job production Each item is made individually.

A small team of workers organise themselves 
to make the entire product.

Batch production

One type of product is made then production is 
switched to making a different type of product.

Flow production Goods are mass produced, often on an 
assembly line.

[3]

  (ii) Report One (lines 19–20) states that there are now ‘30 to 50 mini-seasons each year’ for 
clothing. 

   Recommend the method of production clothing manufacturers should use to ensure 
that they can provide the different types of clothing needed. Give reasons for your 
recommendation.

Method of production  .....................................................................................................

Reasons  ...........................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [3]

  (iii) Report Two (lines 42–43) refers to the possible introduction of new technology as a result 
of the increase in the number of clothes’ seasons. 

   Explain how workers may be affected by the introduction of new technology.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [2]
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 (b) Using the information in Fig. 1 of the Case Study and your own knowledge:

  (i) explain two possible ethical issues which may result from the production of clothing in 
India.

1  ........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

2  ........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [4]

  (ii) explain one possible benefit to the people of India of A&W plc buying clothes made in 
India.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [2]

 (c) (i) Complete the sum below to calculate the average cost of one A&W plc ‘Grant polo shirt’ 
if 10,000 are purchased.

Cost of shirts
Number of shirts

£100,000
10,000

£ ……………… (average cost)= =

[1]

  (ii) Complete the following sentence using two of the choices below.

increases           decreases           stays the same

   A business is said to benefit from economies of large scale production if the average 

   cost of producing a product ...................................................... as the scale of production

   ..................................................... . [2]
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  (iii) State and explain two types of economy of scale.

1  ........................................................................................................................................

Explanation  ......................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

2  ........................................................................................................................................

Explanation  ......................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [6]

 (d) (i) Gross profit is calculated by the following formula:

Gross profit  =  Total revenue  –  Cost of sales

   Using the information in Fig. 2, calculate the gross profit which A&W plc will earn if it 
buys and sells 20,000 ‘Grant polo shirts’. Show your working.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [2]

  (ii) Report Three (line 67) states that ‘Business expenses per shirt are usually estimated to 
be 40% of the selling price.’ 

   Using this information and any other relevant information in Report Three, calculate the 
net profit which A&W plc will earn from buying and selling 20,000 polo shirts. Show your 
working. 

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [3]

[Total: 28]
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2 A&W plc uses specialisation in its business.

 (a) (i) Put a tick (✓) in the correct box to show if each of the following three statements about 
specialisation is true or false.

Statement True (✓) False (✓)

Specialisation is when workers do only one particular 
kind of work. 

Specialisation only occurs in manufacturing production.

Specialisation does not apply to skilled workers. [3]

  (ii) Using the information in the Introduction to Section B and your own knowledge, explain 
how the Bowton branch of A&W plc may benefit from the specialisation of its managers.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [4]
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 (b) Using the information in Report Five, Figs. 3 and 4:

  (i) state the clothing retailer with the largest share of the retail clothing market in Bowton in 
2011.

 ...................................................................................................................................... [1]

  (ii) state the clothing retailer whose percentage share of retail clothing market in Bowton 
fell the most between 2010 and 2011.

 ...................................................................................................................................... [1]

  (iii) What happened to the value of sales of A&W plc in Bowton between 2010 and 2011? 
Show your working.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [4]

  (iv) Is the market for clothing in Bowton a competitive one? Give a reason for your answer.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [2]
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 (c) (i) The figures in Report Six (lines 107–111) should be used to answer this question. 

   If the Bowton branch of A&W plc decides to install solar panels, it will recover the cost of 
paying for them using the savings it makes on its energy bills. 

   Calculate how many years it will take to recover the cost. Show your working.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [2]

  (ii) In Report Six (lines 113–114), George Steinson writes that ‘not everyone will be in favour 
of solar panels on our roof.’ 

   State one group which would be in favour of, and one group which would be against, the 
installation of solar panels. Explain why each group would be in favour of, or against, the 
installation.

Group in favour  ................................................................................................................

Explanation  ......................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

Group against  ..................................................................................................................

Explanation  ......................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [6]
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 (d) (i)* Assess the extent to which the population growth in the local area may affect the sales of 
the Bowton branch of A&W plc (Report Six, lines 92–95).

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [8]
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  (ii) Explain how ‘inward investment’ may affect a town such as Bowton (Report Six, 
line 96).

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [3]

[Total: 34]



10

© OCR 2012

3 (a) (i) In Report Four (lines 76–77), Bonnie Cookney, states that ‘I am considering increasing 
our bank loans in order to finance the new shops, although one of my concerns is our 
current high level of borrowing from the banks’. 

   Read the following three statements about bank loans and indicate with a tick (✓) whether 
each statement is true or false. 

Statements True (✓) False (✓)

A&W plc may have a long period of time to repay the bank loan.

No interest will need to be paid on the bank loan.

A&W plc may have to make regular payments of money each 
month to repay the bank loan.

[3]

  (ii) Other than a bank loan, state and explain two advantages and two disadvantages of a 
suitable method of finance A&W plc could use to finance the refurbishment of its shops. 

Suitable method of finance  ............................................................................................

Advantage 1  .....................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

Advantage 2  .....................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

Disadvantage 1  ................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

Disadvantage 2  ................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...................................................................................................................................... [9]
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 (b)* Report Four (line 78), refers to possible rises in interest rates.

  Assess the extent to which A&W plc may be affected by rises in interest rates.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [8]
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 (c)* Report One (lines 25–27) and Report Three (lines 63–65) refer to cost problems at A&W plc. 
The business is considering the following courses of action in order to reduce costs:

  •  changing from the current supplier of shirts in India to an alternative supplier in a different 
country;

  • selling through the Internet.

  Discuss which course of action for reducing costs A&W plc should use. You should refer to 
both courses of action in your answer.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [8]

[Total: 28]
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